60001-4

60002-4

E 60000 PUMP OVER GEARS
/W.chc-world.com

60003-4

MOBILE AND INDUSTRIAL HYDRAULIC

60004-4

SPARE PARTS FOR SERIE 60000 / 60000 SERISi YEDEK PARCALARI

No Description Tanim Quantity / Sayisi 14 Oil Breather Plug 3/8" Yag Havalandirma Tapasi 3/8" 1
1 Nut M6 M6 Somun 8 15 Bearing Type 6007 6007 Rul 2
2 Cover Kapak 1 16 Cap DIN 470 27 Kapak DIN 470 $27 1
3 Bearing type 6010 6010 Tipi Rulman 2 17 Pinion Gear Pinyon Digli 1
4 Snap Ring ¢ 50 Segmand 50 3 18 Sealing Ring ¢ 35x52x7 Sizdirmazlik Halkasi ¢ 35x52x7 1
5 Ring Gear Disli il 19 Cap DIN 4700 40 Kapak DIN 4709 40 1
6 Male PT.0. Shaft 1" 3/8 Erkek Saft 1" 3/8 1 20 Female P.T.0 Shaft 1" 3/8 Short Disi Saft 1" 3/8 Kisa 1
7 Sealing Ring ¢ 50x65x8 Sizdirmazhik Halkasi ¢ 50x65x8 1 21 Female P.T.O Shaft 1" 3/8 Long Disi Saft 1" 3/8 Uzun 1
8 Oil Level Plug 3/8" Yag Seviye Tapasi 1 22 Female P.T.O Shaft Quick Fitting Disi Siki Gegme Mil 1
9 Gasket Conta 3 23 Ball Bilye 3
10 Gasket Conta 1 24 Spring Ring Yayh Halka 1
11 0il Drain Plug 3/8" Yag Bogaltma Tapasi 3/8" 1 25 Spring Yay 1
12 Socket Capscrew M6x50 Soket Kapak Vidasi 8 26 Peg 5x16 Diibel 5x16 2
13 Housing Yatak 1 27 Ring Halka 1
83
TECHNICAL INFORMATION
TEKNIK BILGI
Speed/N1 | Speed/N2 Power | Weight
Moment/M1 | Moment/M2 Hiz Hiz N2/N1 | Gig | Agirlik

daNm daNm rpm rpm kw kg

17.8 11.9 540 810 5 10 5.5

15.2 7.6 540 1080 2 10 5.5

16.5 6.6 540 1350 2%5) 10 5.5

L 18 5.5 540 1680 3 10 5.5

1 Yy S 18.6 5.8 540 1836 35 10 5.5

60001 | . 15.9 4.2 540 2052 3.8 10 5.5

[aon
0 *Max. Oil Level: 0.22 It
80
2 Max. Yag Seviyesi: 0.22 It

157




70000 PUMP OVER GEARS . III . /

.cnc-world.com MOBILE AND INDUSTRIAL HYDRAULIC

70001 70002 70003 70004
SPARE PARTS FOR SERIE 70000 / 70000 SERISi YEDEK PARCALARI
2\0 o 22 21 g4

| B 23 94 o6 26 21

No Description Tamm Quantity / Sayisi 14 Ring Halka 1
1 Oil breath er 3/8” plug Yag havalandirma tapasi 3/8 1 15 Snap ring®50 Segman® 50 3
2 Gasket Conta 2 16 Ring Gear Disli 1
3 Socket capscrew M8x70 Soket kapak vidasi M8x70 8 17 Male P.T.O. shaft 1" 3/8 Erkek saft 1 3/8 1
4 Oil level plug 3/8” Yag seviye tapasi 3/8” 1 18 Bearing Type 6010 6010 tipi rulman 2
5 Oil drain plug 3/8” Yag bosaltma tapasi 3/8” 1 19 Sealing Ring® 50x65x8 Sizdirmazlik halkasi ® 50x65x8 1
6 Peg Dibel 2 20 Female P.T.O. shaft 1” 3/8 short Disi saft 1” 3/8 kisa 1
7 Bearing type 6009 6009 tipi rulman 2 21 Female P.T.O. shaft 1” 3/8 long Kapak DIN 470 ®40 3
8 Cap DIN 470 37 Kapak DIN 470 37 1 22 Female P.T.O. shaft 1" 3/8 long Disi saft 1” 3/8 uzun 1
9 Pinion Gear Pinyon disli 1 23 Spring Yay 1
10 Sealing ring @ 45x65x8 Sizdirmazlik halkasi()45x65x8 1 24 Ring Halka 1
11 Gasket Conta 1 25 Ball Bilye 3
12 Cover Kapak 1 26 Female P.T.O. shaft quick fitting Disi stki gegme mil 1
13 Nut M8 M8 somun 8 27 Housing Yatak 1
TECHNICAL INFORMATION
TEKNIK BILGI
@145
H :
g b Speed/N1  Speed/N2 Power Weight
g o i m1 M"?:;"ZMI M°:':h'|'t/ M2 Hiz Hiz N2/N1  Giig  Agirlik
i H m rpm rpm KW kg
] i By
L= I M2 ’ 31 31 540 540 20 8.1
Sl o
0N 8
- - 8: " 70001 285 38 26 540 810 15 20 8.1
1 43 21 540 1080 2 20 8.1
3 ‘ ] 46 18 540 1408 25 20 8.1
il a9 16 540 1620 3 2 81
. i 46 13 540 1836 35 20 81
43.7 11.5 540 2057 3.8 20 8.1

*Max. Oil Level: 0.35 It

Max. Yag Seviyesi: 0.35 It

Asaer¥eoingena fm’/immuu lzzz”éz'w_ asae1 Yapinsgnia
7, -

70003

158




o NN SsWwNRZ

BOR R R R R e
o A WN RO

Description
Oil drain plug 3/8"
Gasket
Gasket
Nut M8
Sealing ring® 50x65x8
Pen UNI 8751 5x16
Sealing ringd 50x65x8
Centering ring for pmup group 2
Cap DIN 470 37
Key 12x25
Oil draing plug 3/8"
Bearing 6010
Pinion Gear
Bearing 6009
Housing
Cover

IE 70000 PUMP OVER GEARS
w.chc-world.com

70007-4/24

70008

SPARE PARTS FOR SERIE 70000 | 70000 SERISi YEDEK PARCALARI

Tanim
Yag bosaltma tapasi 3/8"
Conta
Conta
M8 somun
Sizdimazlik Halkasi¢ 50x65x8
Diibel UNI 8751 5x16
Sizdirmazhk Halkasi¢ 50x65x8
2. grup pompa i¢in merkezleme halkasi
Kapak DIN 470 37
Kama 12x25
Yag boglatma tapasi 3/8"
6010 tipi rulman
Pinyon disli
6009 tipi rulman
Yatak
Kapak

Quantity / Sayisi

3

R R NRNRRRRRERNRL R

29 31

Sealing ring  45x65x8
Socket capscrew M8x70
Ring rear
Socket capscrew M8x55
Female/Male PT.O. shaft 1" 3/8 26

Sizdimazhk Halkasig) 45x65x8
Soket kapak vidasi M8x70
Digli
Soket kapak vidasi M8x55
Disli/Erkek siki gegme saft 1" 3/826

Sanpring 50 Segman 50
Female/Male PT.0. quick fitting shaft 1" 3/8 26 Disi/Erkek siki gegme saft 1" 3/8 26
Ball Bilye
Spring Ring Yayh Halka
Spring Yay
Ring Halka

Snapring UNI 7435-50
MaleM/ale P.T.0. shaft 1" 3/8 26
Female/Male P.t.O. shaft 1" 3/8 26 short
Female P.T.O. shaft 1" 3/8 Z6 short
Female P.T.O. shaft 1" 3/8 Z6

DIN 9611 A

Profilg ASAE 1" 3/8 Z 6 DIN 9611 |

Profilo ASAE 1" 3826 |

| Profifo ASAE 1" 3/8 7 & DIN 9611 A
Profito ABAE 1" 3/BZ & DIN9611_|

N

! 91

DIN 96711 A

70007

159

70008 70009

) @
b §

q/’_
[ ‘(5&

Profiia ASAE 1
DIN 9611 A

Profilo ASAE 1“3/826[

BZ6

0006

I
_Prolio DIN 96714 i"%BZ6.
7

Profiio ASAE 1" 38276
DiN 9611

Segman UNI 7435-50
Erkek/Erkek saft 1" 3/8 26
Disi/Erkek saft 1" 3/8 Z6 kisa
Disi saft 1" 3/8 Z6 kisa
Disi saft 1" 3/8 26

TECHNICAL INFORMATION
TEKNIK BILGI
Moment/M1 Moment/M2 Speed/N1  Speed/N2
p aN"{ daNm rl;l'; r::':\ N2/N1
31 31 540 540
38 26 540 810 1.5
43 21 540 1080 2
46 18 540 1408 25
49 16 540 1620 3
46 13 540 1836 35
43.7 115 540 2057 38

,.‘7‘ *Max. Oil Level: 0.35 It

Max. Yag Seviyesi: 0.35 It

B R R R RBRRERRERERWRNRBNRqR

Power
Giig
kw

20
20
20
20
20
20
20

MOBILE AND INDUSTRIAL HYDRAULIC

Weight
Agirhk
kg

9.5
9.5
9.5
9.5
9.5
9.5
9.5




TR

E 96000 DEVIR DUSURUCULERI
'w.cnc-world.com

MOBILE AND INDUSTRIAL HYDRAULIC

No Description Tanim Quantity / Sayisi
1 Oil Breather Plug 3/8" Yag Havalandirma Tapasi 3/8" 1
2 Gasket Conta 3
3 Socket capscrew M8x70 Soket Kapak vidasi M8x70 8
4 Housing Yatak 1
5 0il level plug 3/8" Yag seviye tapasi 3/8" 1
6 Oil drain plug 3/8" Yag bosaltma tapasi 3/8" 1
7 Peg 5x16 Diibel 5x16 2
8 Bearing type 6009 6009 tipi rulman 2
9 Ring gear Disli 1
10 Pinion gear Pinyon disli 1
11 Sealing ring 45x65x8 Sizdirmazlik halkasi 45x65x8 1

96001-4
16 14 15
12 Nut M8 M8 somun 8
13 Cover Kapak 1
14 Flange SAE A Flang SAE A 1
15 Screw M10x20 Civata M10x20 4
16 Gasket Conta 1
17 Bearing type 6010 6010tipi rulman 2
18 Snap ring¢ 50 Segman®50 2
19 Ring rear Disli 1
20 Hollow shaft ¢35 Delikli mil ¢35 1
21 Sealing ring 50x65x8 Sizdirmazlk halkasi 50x65x8 2
22 Key 12x25 Kama 12x25 1
TECHNICAL INFORMATION
TEKNIK BILGI
Speed/N1 | Speed/N2 Power | Weight
Morment/M1 | Moment/M2 Hiz Hiz N2/N1 | Giig | Agirhk

daNm daNm rpm rpm kw kg

48 32 200 300 15 20 8.5

48.5 24.2 200 400 2 20 8.5

52 20.8 200 500 25 20 8.5

57 19 200 600 3 20 8.5

53 15.1 200 680 35 20 8.5

525 13.8 200 760 38 20 8.5

*Max. Oil Level: 0.35 It

Max. Yag Seviyesi: 0.35 It

35x31 DIN 5482

96004

160




	Gear pumps.pdf
	Power pack.pdf
	Solenoid valves.pdf
	Directional control valves.pdf
	Hydraulic motors and disc brakes.pdf
	Steering units.pdf
	Hydraulic valves.pdf
	Piston pumps.pdf
	Pump over gears, speed reducers, mechanical couplings.pdf
	Coolers.pdf
	Untitled



